	1. 24610 : 4922 + 95 · 109 - 3 · 3385 – 2
2. 2•(300+x)=600
800:y-300=500
 (a+200):400=2
 4•(81-a)=92
3. Ширина коробки 5 см, длина 10 см, а высота 7см. Найдите объем.
1 вариант

	1. 10 - 2 · 7525 : 2150 + 79465 - 3442 · 23
2. 57+b:6=70
 (100+a)•2=800
900:b-3=6
 400+(c-200)=500
3. Ширина коробки 6см, длина 8см, а высота 9 см. Найдите объем
2 вариант

	4. 24610 : 4922 + 95 · 109 - 3 · 3385 – 2
5. 2•(300+x)=600
800:y-300=500
 (a+200):400=2
 4•(81-a)=92
6. Ширина коробки 5 см, длина 10 см, а высота 7см. Найдите объем.
1 вариант

	1. 10 - 2 · 7525 : 2150 + 79465 - 3442 · 23
2. 57+b:6=70
 (100+a)•2=800
900:b-3=6
 400+(c-200)=500
3. Ширина коробки 6см, длина 8см, а высота 9 см. Найдите объем
2 вариант

	1. 24610 : 4922 + 95 · 109 - 3 · 3385 – 2
2. 2•(300+x)=600
800:y-300=500
 (a+200):400=2
 4•(81-a)=92
3. Ширина коробки 5 см, длина 10 см, а высота 7см. Найдите объем.
1 вариант

	1. 10 - 2 · 7525 : 2150 + 79465 - 3442 · 23
2. 57+b:6=70
 (100+a)•2=800
900:b-3=6
 400+(c-200)=500
3. Ширина коробки 6см, длина 8см, а высота 9 см. Найдите объем
2 вариант

	1. 24610 : 4922 + 95 · 109 - 3 · 3385 – 2
2. 2•(300+x)=600
800:y-300=500
 (a+200):400=2
 4•(81-a)=92
3. Ширина коробки 5 см, длина 10 см, а высота 7см. Найдите объем.
1 вариант

	1. 10 - 2 · 7525 : 2150 + 79465 - 3442 · 23
2. 57+b:6=70
 (100+a)•2=800
900:b-3=6
 400+(c-200)=500
3. Ширина коробки 6см, длина 8см, а высота 9 см. Найдите объем
2 вариант

	1. 24610 : 4922 + 95 · 109 - 3 · 3385 – 2
2. 2•(300+x)=600
800:y-300=500
 (a+200):400=2
 4•(81-a)=92
3. Ширина коробки 5 см, длина 10 см, а высота 7см. Найдите объем.
1 вариант

	1. 10 - 2 · 7525 : 2150 + 79465 - 3442 · 23
2. 57+b:6=70
 (100+a)•2=800
900:b-3=6
 400+(c-200)=500
3. Ширина коробки 6см, длина 8см, а высота 9 см. Найдите объем
2 вариант



